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CDH-resolution (TDC-54[ps/ch])

080813




PMT1 : 1852V Dividerl R DELAY : cable + module : 60+16 =76 ns ADC : chl
PMT2 : 1898V Divider2 H DELAY : cable + module : 60+16 = 76 ns ADC : ch2
PMT3 :1767V Divider3 DELAY : cable + module : 60+16 = 76 ns ADC : ch3
PMT4 : 1806V Divider4 DELAY : cable + module : 60+16 =76 ns ADC : ch5
PMTS5 : -1600V Divider5 DELAY : cable 75 ns ADC : ch6
PMT6 : -1600V Divider6 DELAY : cable 75 ns ADC : ch7
GATE GENERATOR ADC : GATE
D TDC : START
1 Discri6:140Vth DELAY : cable 75 ns TDC : ch7
080813 — Discri5:140Vth DELAY : cable 75 ns TDC : ché6
B Discri4:10Vth DELAY : cable + module : 60+16 = 76 ns TDC: ch5
Ft%’ Discri3:10Vth DELAY : cable + module : 60+16 = 76 ns TDC : ch3
X Discri2:10Vth DELAY : cable + module : 60+16 =76 ns TDC : ch2
Discril:10Vth DELAY : cable + module : 60+16 =76 ns TDC: chl




CDH-resolution (TDC-54[ps/ch])

080813
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ADC vs TOF before slewing collection
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ADC vs TOF after slewing collection

Sisadt
tnites g2
Noan « 230¢
Neany G086
Avs s 2
RS 3851

1500 2000 2S00 3000

3500 2000

ADC [eh)

ADCvsTOF STsaddy
Tres 10832
50 - Now « 13I8
- Moany 00236
Ll S8 nvs wa s .2
3 A5 3851
k) o [] 0
3 T 1!’{_0‘
e 3
wf
i 10
O
of
3
«f
w0f
-60“:
ADRC [ch]
ADCvsTOF lazdd
80 ¢
a0
o
20

0
10
-20
-0
40
50

0 500 1000 500 2000 2500 3000 3500 4000

ADC [ch]



080813

[Fitted value of parfi)=Mean |
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080813 TOF o = 3.34[ch]*54[ps/ch]=180psec

CDH-dtsci hisdts
Entries 10922
. Mean 0.0886
700 RMS 3.851
= Underflow 1
600|— J Overflow 4
- +2 [ ndf 808.1/85
= Prob 0
S00 - Constant 603.1+ 7.5
- Mean 0.1162 = 0.0425
400 Sigma 3.344 = 0.025
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PMT1 : 1852V Dividerl F DELAY : cable + module : 60+16 = 76 ns ADC : chl
PMT2 : 1898V Divider2 H- DELAY : cable + module : 60+16 = 76 ns ADC : ch2
PMT3: 1767V Divider3 DELAY : cable + module : 60+16 = 76 ns ADC : ch3
PMT4 : 1806V Dividerd DELAY : cable + module : 60+16 = 76 ns ADC : ch5
PMTS5 : -1600V Divider5 DELAY : cable 75 ns ADC : ch6
PMT®6 : -1600V Divider6 DELAY : cable 75 ns ADC : ch7
GATE GENERATOR ADC : GATE
Trig )—
PMT / TDC : START
1 Discri6:140Vth DELAY : cable 75 ns TDC : ch7
080818
— Discri5:140Vth DELAY : cable 75 ns TDC : ch6
a
E% Discri4:10Vth DELAY : cable + module : 60+16 = 76 ns TDC : ch5
Discri3:10Vth DELAY : cable + module : 60+16 = 76 ns TDC : ch3
y
Discri2:10Vth DELAY : cable + module : 60+16 = 76 ns TDC : ch2
Discril:10Vth DELAY : cable + module : 60+16 = 76 ns TDC : chl
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080818 CDH-pxy hispxy
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ADC vs TOF before slewing collection
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ADC vs TOF after slewing collection
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080818 TOF o = 2.45[ch]* 54[ps/ch]=132.3ps

o =93.6ps
CDH-dtsci hisdts
Entries 9655
800 Mean 0.1267
- RMS 3.48
700 : Underflow 2
- Overflow 2
- +2 / ndf 223.7/108
600 - Prob 4.276e-11
= Constant 768.6 + 9.9
500 Mean 0.03371 = 0.02542
= Sigma 2.447 + 0.019
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PMT1 : 1942V Dividerl F DELAY : cable + module : 60+16 = 76 ns ADC : chl
PMT2 : 1988V Divider2 H- DELAY : cable + module : 60+16 = 76 ns ADC : ch2
PMT3 : 1852V Divider3 DELAY : cable + module : 60+16 = 76 ns ADC : ch3
PMT4 : 1893V Dividerd DELAY : cable + module : 60+16 = 76 ns ADC : ch5
PMTS5 : -1600V Divider5 DELAY : cable 75 ns ADC : ch6
PMT®6 : -1600V Divider6 DELAY : cable 75 ns ADC : ch7
GATE GENERATOR ADC : GATE
Trig )—
PMT / TDC : START
1 Discri6:140Vth DELAY : cable 75 ns TDC : ch7
080820
— Discri5:140Vth DELAY : cable 75 ns TDC : ch6
a
E% Discri4:10Vth DELAY : cable + module : 60+16 = 76 ns TDC : ch5
Discri3:10Vth DELAY : cable + module : 60+16 = 76 ns TDC : ch3
y
Discri2:10Vth DELAY : cable + module : 60+16 = 76 ns TDC : ch2
Discril:10Vth DELAY : cable + module : 60+16 = 76 ns TDC : chl




080820
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ADC vs TOF before slewing collection
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ADC vs TOF after slewing collection
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080820 TOF o = 2.54[ch]* 54[ps/ch]=137.2ps

o =97.0ps :
CDH-dtsci hisdts
Entries 10294

900 Mean 0.1162

- RMS 3.398
800 Underflow a

- Overflow 7
700 +2 / ndf 218.2/97

- Prob 1.296e-12
600 Constant 790.7 + 10.1
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PMT1 : 1852V Dividerl F DELAY : cable + module : 60+16 = 76 ns ADC : chl
PMT2 : 1898V Divider2 H- DELAY : cable + module : 60+16 = 76 ns ADC : ch2
PMT3: 1767V Divider3 DELAY : cable + module : 60+16 = 76 ns ADC : ch3
PMT4 : 1806V Dividerd DELAY : cable + module : 60+16 = 76 ns ADC : ch5
PMTS5 : -1600V Divider5 DELAY : cable 75 ns ADC : ch6
PMT®6 : -1600V Divider6 DELAY : cable 75 ns ADC : ch7
GATE GENERATOR ADC : GATE
Trig )—
PMT / TDC : START
1 Discri6:140Vth DELAY : cable 75 ns TDC : ch7
080822
— Discri5:140Vth DELAY : cable 75 ns TDC : ch6
a
E% Discri4:10Vth DELAY : cable + module : 60+16 = 76 ns TDC : ch5
Discri3:10Vth DELAY : cable + module : 60+16 = 76 ns TDC : ch3
y
Discri2:10Vth DELAY : cable + module : 60+16 = 76 ns TDC : ch2
Discril:10Vth DELAY : cable + module : 60+16 = 76 ns TDC : chl
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ADC vs TOF before slewing collection
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ADC vs TOF after slewing collection
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TOF o = 2.54[ch]* 54[ps/ch]=137.9ps

o =97.5ps
CDH-dtsci hisdts
Entries 12200
1000+ Mean 0.1096
- RMS 3.707
- Underflow 2
Overflow 5
800— +2 / ndf 245.6 /123
i Prob 3.699%e-11
5 Constant 938.7 = 10.9
600|— Mean 0.02114 « 0.02341
. Sigma 2.539 + 0.018
400
200
i 41 1 J 11 L | 1 11 l 111 : $ 1 1 1 l 11 1 L

49 20 30 20 -10 0 10 20 30 40 50
TOF [ch]



